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1. Former Prime Minister Atal Bihari Vajpayee was honoured with Bharat Ratna award in
which year?

(A) 2016 (B) 2015

©) 2013 W 2014

@pemenrar LMgsL Grgof e derfl argumd aps amLsHa ums s lms s

QaearpellE&suT_Lmi?
(A) 2016 (B) 2015
(C) 2013 . (D) 2014

2. The article inserted by the Constitution for implementation of Goods and Service Tax (GST) is
W Article 279 A (B) Article 377
(C) Article 277 (D) Article 370

s76@ wopd Gsemes eufl GST (Goods and Service Tax) Qewou@sgId & L1b Spflueeaoifea
eriu@ Carsasiiu’_(Hereang?

(A) 279A (B) 377
© 277 (D) 370
3. ‘Prakash hai to Vikas hai’ scheme, a free household power connection scheme for the poor
was launched recently by the state of
(A) Gujarat (B) Kerala
(C) Telangana M Uttar Pradesh

TMWPEEHEES Qeaus eSLH W Gaenriy S wrer ‘Graray apmi Car eflsren anmit’ ehs wrBlen
Sjaranoufer dlapsd Geligerens?

A eys (B) Gsyerr
(C) Qsgimsrem (D) 258y ACsend
4. A collaborative model for providing public infrastructure and services by government and
private sector is
(A) TPC model (B) LPG model
@ PPP model (D) HSR model
Qurg 2 eraLenwoliy wHmD Cemasamen SFmmsD wWHMD ST Hopaar QaRThE aULPEIEGLD
gal_ (B gl
(A) TPC model (B) LPG model
(C) PPP model (D) HSR model
I i 3 AJGS/18
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5.

According to the RBI report, which state has the richest state in India
Maharashtra (B) Tamil Nadu
(C)  Andhra Pradesh (D) Uttar Pradesh

flarey CGumas < @pdurdlen amss <guuerwle ebg wrflen verssty wrHewrs
sMHBULOEDS?

(A)  wsmymegggn (B) sbpprH

(C) =iy 9yCGssd D) 2587 QrGssd
Which country is first implemented GST?

(A) India M“ rance

(C) Japan (D) Canada

2 @dlé ahs Bl e wsald GSTaw siflypsiu@ssiug?
A @pdur (B) Qgmenev
(C) guLmen D) senm

Where is the headquarters of central pollution control board is located?

(A) Mumbai G Kolkatta

(C) Patiala (D) Delhi

B e sLEUUTEG eurflwgen saaemoud b @bSlwureild emiE Sieniofhs)drens?
A  pdeny B) sosssT '

©) umlewremn (D) igevell

Which state government will set up “Book Banks” in schools to provide old books to needy
students?

(A) TamilNadu (B) Arunachal Pradesh
Punjab (D) Haryana
Bpdureller arps wrfle srsmhsd ‘Usss umd” e imwlmu QsTkd Umpw Lbssksman
uerafl omemreuitaehéE eulphiEEng?
(A) . sblppr® B) e@memse GrCssid
(C)  ugpsnis D) fwurem
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9.

10.

Suppose a planet went around the sun twice as fast as earth. What would be its orbital size
as compared to that of the earth?

63% that of the earth
(B) 53% that of the earth
(C) 43% that of the earth
(D) 33% that of the earth
@ Camar yfleow el @muwLmE Ceauswrs @fluamer shmeugns Uameareunss Gamer. Digen
Caneriiumens eare| Ylluler Carariiumensg 2iereen UibHw Curg erareneuns @mé@b?
(A)  63% yubSlullen CameTLiLmens jemey
(B) 53% yululen Cameriiuimens jemey
(©) = 43% yblullen CarariiLimeng jeme]
(D) 33% yflullen CareriiLimeng Sjamey

Which of the following statements about transistor amplifiers are incorrect?

L gi=
A l-a

g L-2.5
a f

III. Gain increases with negative feedback

IV. Gain decreases with positive feedback

(A) TandII (B) II and III
@ IllandIV ®) MandIV
wyrendlevL it QumsHenw Qurnsseuay Spsarr smpmiseie arg)/ereneu geum?
L ==
2 l-a
. LSy
a p

II. edin9engn b Aumaduien Aumsssms sl Hélenmg?
IV. Gpndangn L b Qumpsduiear Qumsssms G@DESHaDE?
(A) TandII (B) Il andIII
(€ MlandIV ‘ (D) Mand IV
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11. The All India Muslim League (AIML) was formed in the year
(A) 1904 (B) 1905
W 1906 D) 1907
Siélo @bHu pavadid ofé (AIML) eps par® o meunssiiulLg)?
(A) 1904 (B) 1905
(C) 1906 (D) 1907

12.  Who is the author of the newspaper ‘Yuhantharam'?

M Aravindar (B) Bharathidasan
G. Subramania Iyer (D) Lokmanya Tilak

‘WarpBon' erenp usfmamws Qgm_kidwieu wri?

A)  seipst (B) umpdlsnaen

(C) & stmosflw guir (D) Canswranu Hesi

13.  Who among the following was popularly known as the “Father of Revolutionary Thought in

India”?

(A)  Lala Lajpat Rai (B) Aurobindo Ghosh

(C)  Bal Gangathar Tilak JP7 Bipin Chandra Pal
Epsaramuauisaid wri ‘@pHw yn Asnoren Apsemeanden shens” eran SHILCILEGADTT?
(A)  ererogub Fmi (B) 2relilps Canay

©) ure susrsy Hosi (D) QY6 smdlgumed

14.  Who was the president of the Tamilnadu congress committee in 1930?

(A) T.S.S. Rajan \M C. Rajagopalachari
(C) T.Prakasam (D) K. Nageswara Rao
sBlPprH snhdlyey sl gl saaarrs 1930-6 G)mbaaui wrir?.

(A)  g.ere.creh. grggen (B) 4. QurmCarunrasnf
(©) g Qpsrsd . (D) Cs. pCaeveur ymeu
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15.

16.

i

Which one of the article was inserted in the Indian Constitution to provide free and
compulsory education?

(A)  Article 21 ‘K Article 21 (A)

(C) Article 22 (D) Article 22 (A)

aps @@ o @eeus wLOHDID sLLTWE soell uBEGUsDHEG QB rfluaaenliba
CarsslinLg?

(A) e 21 (B) «f94 21 (A)

(C) o422 (D) <94 22 (A)

Indian Foreign Service is one of the service is
(A) All-India Service
W Central Services Group-A
(C) Central Services Group-B
(D) Central Services Group-C

ardle @bEAw SweBTHL uewflureng apgeneniowimet ;_lmﬂu.me; B maslng?
A4) odo-@hslu uamflaer

B) wsHu vefiser GAfla)-2

©) wsHu veflaar Gfleay-2y

(D) wsdHu ueflaser Gfla-E)

The government of India had set-up a High Level Committee on the Indian Diaspora under
the Chairmanship of L.M. Singhvi on

(A) September 1997 September 1998

(C) September 1999 M September 2000

s @ @pHu srsrasd Aauafipr® wump @bHuiserssns ew.ab. fmell soaemoudaar
2 Wil L& Gpeflenar 2 (meursdliug?

(A) Geubur1997 (B) Qsuibur 1998

(C) Qs tbuir1999 (D) @siibuir 2000
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18. Who maintain law and order in a distriet?

J District Collector

(B)  Superintendent of Police
(C) District Judge

(D) DIG

eyl L jarelled 1L 1b gpriiena LFmofliiueur wimd?
(A)  wreulL oy HE sameeui

(B)  wreulL sreudgen samsmenfliumemi

(C) el FHud

(D)  gywar Qanav@usL it Aggenyed

19.  The legislative council is a permanent body and cannot be dissolved each member of the
legislative council serves for terms is

(A) 3years
(B) 4years
(C) b5years

\{ 6 years

sl Guaamawrag Hoowra s@wlursabh g galaurm enlbaisaa ugeilssmwn
CTHSHEME 2,1 (HSHET?

(A)  apenm augmLLd
(B)  pren aumLtb
(C) mbHs aumLD

D)  meumLd
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20. Which writ is issued by judiciary to free a person who has been detained illegally?

(A) Quo warranto (B) Mandamus

(C) Certiorari \M Habeas Corpus

SUDTS Qe sraldle) meaussliul LT, ey eflGgamea Aain erasaumaswuiner B0 CurTaarranw
BAanib LLETLOSHEADS

A) sEdHdaey HHUCLTTERaRT (B) Gewgmss SHOCLyTenam

(C) Qpdlapens Galy FHOCLTTenes (D) <= Qaremriey BHOCLTTEn e

21.  The Chief vigilance commissioner is appointed on the recommendations of

(A) Cabinet
\V Committee of Prime Minister, Home Minister, Leader of opposition
(C) UPSC

(D) Parliament

goaew empe FhHUy ppeanui wimorw ufifgends  eguueLld  Hluwend
Qalwau@Epmr?

(A) ewésTeneu

(B)  Qpswi. o_aigienn Simwést, ardial S gemaeuir 2 arem_mdl G

(C) wsdu el vesflwurernT CaTeurenenTD

(D)  umpmEpLETDLD

22.  Rajya Sabha has equal powers with Loksabha
(A) Removal of the government
M Amending the constitution
(C) Matter of creating new All India Services
(D) In making cut motions

Cang surellh@ Gevamnunen sflamydens QrrRw sur GuHdlmLiLg
&)  swsmsses pagafe |

B) erflueanlamu Smsgeusdla

©) yu sfleo @pHu uaflsmer 2 eurs@eaude

(D) Qeul(® Smorend Gareaw(Heumaudled

1 9 AJGS/18
[Turn over




23. 1. Fringing reefs — East Indies
2. Barrier reefs — Australia
3. Atroll reefs — Indian Ocean

Statements are True/False

(A) 11istrue (B) 2istrue

(C)  3is true P 1, 2 and 3 are true

1. Gflgnéliu Flev — SpsfpHum

2. Cuflwir fle — pevHCredlwun

3. 2CLra fleh — @bgist supsdiod

CuCe gruul eararencuser sflwr/seupr aren Candlés,

(A) 1w @Ebs (B) 2wl @b s

(C) 3wl @besf (D) 1.2 wpmd 3 e sl

24.  Which of the following is not a ‘blue copper protein’?

(A) Stellacyanin \D/ Ferritin

(C) Plastocyanin (D) Azurin
Epssam_supmer argl ‘B smblyl yrsn’ dewing?

(A) QL eerswualien (B) , o oGILITtg &
(C) emeuGLraweien (D) ygrflen

25.  The equivalent conductance of an electrolyte with dilution
(A) does not vary
M increases till it reaches a limiting value
(C) decreases
(D) first decreases and then increases
e Wenugeafiuflen swren WansL_sgidpen Biggamea
(A) wrmur® e wrg
B)  en MUl wiiy amy sdsfagn
© ooy
D) wpsdle appe ey sifafsen
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26.

27.

28.

29.

AGMS ciou?

(A)  ABCD ascd WHNT bhnt
(C) BHNT djpv ' (D) bhnt DJPV
AGMS ciou?

(A) ABCD ascd (B) BHNT bhnt
(C) BHNT djpv (D) bhnt DJPV

The straight lines x—axis and y-—axis are perpendicular to each other. But, the condition

mym, =1 is not true because the slope of the x—axis is ———————— and the slope of the
¥ —axis is :

A 01 \K 0, not defined

€ 1,0 M 1,1

X—2Fs OO Y -Es Pdluar gapEg gan CenEsstar CriCarfser <yamad mym, = -1
aremm FHlupgenar QurmBsTg, gaala x—=sfler smia) WHOID Yy —nFflen smiiey
A 01 (B) 0, cumpwenp Qeiwii_efléreney

© Lo D) 1,1

If the length, breadth and height of a cuboid are 2 m, 2 m and 1 m respectively, then its
surface area is (in m*)

A) 8 (B) 12
V 16 (D) 24

215 2 & wpgd 1 & flueupenp weapCu Bar, Dism, 2 wrhsers 2w s Qsduaussden
Qeuafitiugiiy (in m*)

A 8 ' (B) 12

(C) 16 D) 24

The ratio of the circumference of two circles is 2 : 3. What is the ratio of their areas?
@) 2:3 T 4:9

€ 3:2 D) 9:4
B el Lmsaflen sHnareisaflen aldsn 2 : 3 erafler oigen Lyliysefien al&sb wng?
A) 2:3 B) 4:9
©C 3:2 D) 9:4
15 AJGS/18
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30.

31

32.

33.

AJGS/18 12

For the integer 224 in decimal system, the digit 2 in position 2 from the right, has the value

(A) 10 (B) 200
7 20 D) 4
224 eranp eresmentlay euewdlmHg L wons 2 cug) @)L s @ mEEo 2 e iy
A 10 (B) 200
© 20 (D) 4

If the compound interest on a certain sum for 3 years at 10% per annum be Rs. 331, what
would be the simple interest?

(A) 250 B) 231
(C) 331 P 300

aumL &G ey 10% aafle, am Asras 3 amesde Qumb &G aly @ 331 aald, ibs
Qgrens, 21Gs sragHle Qumb gafleully erauaaray?

(A) 250 (B) 231

(€C) 331 (D) 300

HCF of x* —-2xy+y* and x* - y* is
A 1 (B) x+y

W oz M) «*-y*

x* —2xy + y* wppd x* — y* —en 18.Quim.eu eraLigy
(A) 1 B) x+y
© ==y D)’ «*—y

The G.C.D of 1.08, .36 and 0.9 is

(A) .03 B) 9
W 18 (D) -108

1.08, .36, 0.9 gpélu peny eramsefien BLGL® LT auE aarammmeang)
(A) .03 B 9

(C) .18 (D) -108




34.

35.

36.

Two series are given below with specific pattern

6 18 36 108 216 648
2 (@ m (o (d) (e)

What will come in the place of (e)?
(A) 482 (B) 344
216 (D) 420

&G Qan@saiuL GHuG L o sHlaEp e sagw @@ dgr_irsafld (e)-ar wli sras.

6 18 36 108 216 648
2 @ b @@ @ @

(A) 482 (B) 344
(C) 216 (D) 420

A cube has a total surface area of 384 cm?. Find its volume.

(A) 346 cm? 7 512 cm’

(C) 64cm? (D) 248 cm?

@ sané sgirsdlen Qurss ypuiugiy 384 #.0s.5 arafle), sigen sean jeTeneud sreir
(A) 346 5.Qs.8 B) 5125058
(C) 64s5Qs.5 (D) 248 5.05.5

Ifx+-1-=2 then x3+L3=

X X

(A) * 8 uv/ 2
C) 6 (D) 4
r+e =3 qeilé x3+l3=
X - o
A) 8 B) 2
() 6 D) 4
13 ) AJGS/18
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37.  Find the value of + L + : Foo¥ 1
2x3 3x4 4xb 9x10
5
ST \M
(A) 70
0 o (D)
© %
1, & 1 B e _
. . + ..o+ — e L ETEE.
2x3 3x4 4xb 9x10
5
A o (B)
(A) 0
© = D)
20

38.  Find the area of a parallelogram whose base and height are 9 cm and 5 ¢m respectively

va

(B)
(©)
(D)

Sligiuésid 9 a5 wpmbd 2 wb 5 Gs.5 aarayb 2L w Gaarsisdlean LTLLaTE STams

(A)
(B)
©
D)

45 cm?
40 cm?
14 cm?

22.5 cm?

45 Q&8
40 5.Qs.5
14 5.0s.8
22.5 5.0s.8

O e

=

39.  The ratio of the incircle and circumcircle of a square is

N4
©

2 s ussnasmars Asm [ Qea@ib 2 dreu’ L b wHmD eeaniydel aPlGus Qsagid

1 5’2
3:4

Qeuefleu L gdlen Lyl saflen eldsb

(A)
(©)

AJGS/18

1
3:4

(B)
(D)

(B)
(D)

14
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40.  Match the following List I and List IT :

List I List IT

(Viceroy) (Year of Tenure)
(a) Lord Wavell 1. 1936 — 1943
(b) Lord Irwin 2 1931 — 1936
(¢) Lord Linlithgow 3 1926 — 1931

(d) Lord Wellingdon 4, 1943 — 1947

(a) (b) (c) (d)

(A) 3 4 2 1
B) 1 2 3 4
W 4 3 1 2

(D) 2 1 R} 3

£Cip Qer@éstiul Herer Uiguie g uligwe [T QuTmSSIs :
U guwe I uCgwe IT
(eneudlymit) _ (<=8 srenid)

(a) Geueud Gy 1. 1936 — 1943

(b) @ellan Ggy 2. 1931 — 1936

() &SenellsCam Sy 3. 1926 — 1931 .

(d) Qeucellmian Gy 4. 1943 — 1947

(a) (b) (c) (d)

A 3 4 2 1
B 1 2 3 4
© 4 3 1 2
D) 2 1 4 3

1 15 AJGS/18
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41. Match the following :

(a) KailasaNatha Temple 1. Mamallapuram

(b) Mandagapattu 2. Music Inscription

() Sea-shore Temple 3. Rajasimha |

(d) Kudumian Malai 4. Mahendra Varman I
(a) (b) (c) (d)

(A) 3 2 1 1

(B) 4 2 1 3

N> 1 1 2

(D) 4 1 2 3

Qurpsss -

(@) eaarsprst Garella 1. LOMDEEIL| LD

(b) war_siUC 2. Bass sQeu_H

() sLpsears Camefle 3. @smb prgslibwen

(d) EEWwE e 4. psord wCanbdyeuiner

(a) (b) (c) (d)

(A) 3 2 1 1
(B) 4 2 1 3
() 3 4 1 2
(D) 4 1 2 3

42.  The largest number of scheduled castes are found in

Punjab (B) Bihar
(C) Rajasthan (D) Karnataka

UL e Qlensseu Siflsnns sresmiu@ib wmleotd erg)?

(A)  ugpem (B) Ssni
(©)  yrgmevsimen ; (D) sipT_sT
AJGS/18 G




43.

44.

45.

What is called the Ganga of South India?

@ The Kaveri @) The Vaigai
(C) The Godavari (D) Thamiraparani

Cger @nbHwimellen smhiens erann PSS HeUZ 6TFI?
(A)  smelilfl um (B) eeuens m
(C) Cangmeufl (D) smAyuyesi

Which of the following rivers originate from the Mansarovar lake?

1. Ganga

2 Sindhu

3. Satle)

4 Brahmaputra

(A) 3and4 (B) 2and4

(©) 1,23and4 P 2 3and4
Gemeumid pmisafle) wrereGrreur gfludellmhg 2 DUSELTGLL YMmIsSET Wiraneu?
1. ShIEnNsG

2. fpgl

3. A

1 by gSym

(A) 3 womb4 B) 2wvhmwb4
(C) 1,2 3whyb4 D) 2,3 wipib 4

Doon valley is located in which part of Himalayas range?

(A) The Great Himalaya (B) Middle Himalaya
d The Siwaliks Himalaya (D) Upper Himalaya

‘Ben’ LaTaTEFTEG @wwweaaullen eriLEGHudle mwbHgeTens)?

(A) e2er@uuweana (B) wsHw @owineme

(C) Aeundls @emmser (D) Guweé Guwioeme

17
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46. Which bacterium contains the crystal protein (endotoxin) that kills Lepidoptera insects?
(A) Xanthomonas campestris |
M Bacillus thuringiensis
(C) Pseudomonas syringe
(D) Bacillus anthracis

<hg urseflurefler sremuu@b evugs Lrsn (eanCGLrirseder) Cellirligrr s ysfasmen

Qanadlpg).

(A)  ampCasnCGuorenmay smbuievL fley

(B) .Cuéléea gimerdsanslan
(C) GCLICwrenmen &g

D) Culldwe b

47.  Carnivorous adaptation of plants mainly compensate for soil that has a relatively low

content of
(A) Potassium M\Iitrogen
(C) Phosphate (D) Calcium

yUFSluemamb sreurmisaiian SaaamLILITGTS (PSELLINS aETaild @GdmnhHS BieTa,

Qmliues FHEsLuSHETS.
(A) GQuriir&wud (B) enploggen
(C) umsnCuil (D) sreoflud

48.  During the five year plan period, annual plans were followed in the period of
1966 — 69 ' (B) 1970-1T1
(C) 1973-74 (D) 1976 -177

ghsrem(® HLsromsald grran® S ks e apennliuSsULLL 0 g ?
(A) 1966 — 69 (B) 1970-171
(C) 1973-74 (D) 1976 -177
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49.

50.

51.

The New Economic Policy for liberalization and privatisation of Indian economy was
implemented in

(A) 1985 & 1901

(C) 1990 (D) 1999

@Sl QurmeTsTTE®S STUTETOWD WHND Sefwmi wworEGusHaTs LHu Qurmemsryé
Qanerens 2HlpstuBSSULLL 26 [H

(A) 1985 (B) 1991

(€) 1990 (D) 1999

The sectors are classified into public sector and private sector on the basis of
(A) Employment condition
(B) The nature of Economic Activity

: M Ownership of Enterprises
(D) Number of workers in the enterprises

geflwn glenpwid, QUIEISSIDUD ETHer SigLiueLufe R ssLu@Senpen?
(A) CeusneveumiiliL) jeradlem SigiLen il

(B) Qummensny pLaigbmssafler SiglumLutld

C) Fpeuamsaer 2 flawouler Sjig e ufe

D) Ceaumewr s earafismaudan gL uileo

The main objective of Janani Suraksha Yojana is
To reduce maternal and neo-natal mortality

(B) To reduce birth rate

(C) To reduce death rate

(D) To provide quality health care facilities

menafl srsagt S SHlen padlu @H&Caner

(A) CGumsre whHmib H& GpLieL GopULS

B) Apuy dssms GoDLILS

©) @puy eilfizsens GonULE

(D)  smomen < Crrédlwid Gugmd cusSlaenar aéﬂuug

19 AJGSN8
[Turn over




52. 1s the first state in the country to open a blood bank for cattle.

M Odisha (B) Maharashtra
(C) Rajasthan (D) Gujarat

Bb BTig.8 (psen (sl sTopmLs@sAsar @rss ekd Qsm_rudw wrflen
(A guen (B)  wanmymeigiq
(€)  ygrgevgen D) sy

53.  Awardee of Nobel prize for Literature in 2014 is

M Patrick Modiano (B) Edward Moser
(C) William Morner (D) Stephen Hell

2014e Qasdlugdparer Crmue ufls Qeudmpeui
(A) Qul'_lﬂé Gumgwirenr (B) erleui’ Gumeui

(©) Aeallwid Comirart (D) evieus Qame

54, Who is the author of the book ‘I do what I do'?
(A) Amitav Ghosh Raghu Ram Rajan
(C)  Arunava Sinha (D) Kiran Doshi

‘I do what I do’ erénp Ussasams erupdueit wini?
A)  ouflze . Canas (B)  nm@ymb prgger
©C)  smenreu Semamm (D) dlgen Carad

55.  Which colour of the ball used during the Duleep Trophy cricket tournament?

(A)  White (B) Brown
&’ Pink D) Yellow
&L Camlieu AfsQs. LpsWEHaCLTS) 2 UCWrsLILBSELILEL LbSer Amib ereran?
(A) Qeusrener B)  uepiy
© Qms (D) wEpser
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56.

57.

58.

59.

Who launched Narmada Seva mission for conservation of Narmada River?

(A) President of India (B) Vice President of India
W Prime Minister of India (D) Chief Minister of Madhya Pradesh
“Brngr pHlewl ungisns@wn” pingr GCaeur Wlaflar — wiryred geussiun' L g?
A) GBS GguUrsS Smaeu (B) @pHu @igwrs sienerssameaauit
(©) @pdwuds Gyswor (D)  wsdwuds ACse apswewasi

Which of the following 1s used as an atmospheric pollution indicator?

(A) Lepidoptera (B) Lycopersicon
Lichens (D) Lycopodium

Epsear_cunle euafloam e wrasm iy eg?

(A) Qsflé @néams (B) aaCarQuiflsmsr

(C) wriurflaser (D) owsCamiCGumguibd

How many bio diversity Hot Spots in the world?

@ 10 97 34

© 20 (D) 25
2 odléd ue 2 uiflwe Geutiul uEH agsmean 2 aTarg) ?

A4 10 , B) 34
(© 20 (D) 25

acts as technology partner for National Health Resource Repository (NHRR)
project and provides data security.

Indian Space Research Organisation (ISRO)
(B) ICT Academy of Tamilnadu (ICTACT)
(C) ORACLE corporation
(D) Organisation for Economic Co-operation and Development

fmeuand National Health Resource Repository (NHRR)-&@ Gsmflému
sal_Lmefluns eflemiu@auCan(® W BLoRTod, seae UTgsTumuLD Siefsdns.

A) @i eflem@euet ey ey (ISRO)

B) slpprgen g 8.g samfl (ICTACT)

©) rége Hipeueand

(D) Qumrmertany eégempli whmb Gubum_ [HasTen ey
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60.

61.

62.

63.

Telemedicine is an upcoming field in health science launched by the organization

(A) CERN (B) ASTROSAT
& 18RO (D) TMT

sangpny ef@heprand Qsram® Gsreve wmps (Telemedicine) eremp Leoemen @flapsiiu@adiu
Himeuamd

(A) CERN (B) ASTROSAT

() ISRO (D) TMT

. A mobile application developed by CERN for user friendly freight operation in Railways is
(A)  Operation Five Minutes (OFM) (B) COTVM
(C) UTS y Parichalan
QArileCaude aafugpapis srég preaysmssa GopQsrarar CERN 2 mamsdu amstiGué
Glswsed
(A)  Operation Five Minutes (OFM) (B) COTVM
(C) UTS (D) unrflsaer
Name the inventor of WWW. (World Wide Web)
M Tim Berners — Lee (B) Mark Zuckerberg
(C) Steve Jobs (D) dJan Koum
2 @& semmeilu eusmaanws (World Wide Web — WWW) sear(pi91g sseuit wimi?
(A) b Quirenien & (B)  omié gresrGuis
(C)  eveau gmiien : (D) Cgen sayd
Google launched its smart message app which named as

(A) Cello (B) Allow

(C) Hallo M Allo

s@en Hipeuand siggieL i Gl g STrssanoner GnbSseI BigliLb LeTum eL
erenp Guwiflé) Qgm g

&)  QsGar B) sguodss

©)  aprGar (D) =Caor
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64. The compton shift (A1) in wavelength is given by

{/L (1 - cos¢) (B) : ~(1 - cos ¢)

moc moc”
he he h i
g . Ui S ) ¥ e
(&) 2 (D) o (1 - sin ¢)

ambLaflan e Her eflwsad (A1)

(A) B (1-cosg) (B) i 5 (1 - cos¢)
moc moc
he he h .

(C) A (D) v (1 - sin ¢)

65. If we assume, the mass of an electron is 9 x 10 * kg, the number of electrons required for

1 kg would be

@A) 10 Tk a/ma"

(©) 10% D) 10*

crevaL_yen gsmaflan Hlevpenw (mass) 9 x 107 kg aren er@sa Qarer_ned, 1kg Hamée Coemeuliu@in
GTREL_[TTEISHET 6T60T 6w &SNS

4 10" B) 10%*

© 10% D) 10*

66. How many members attended in the first session of INC?
(A) 607 (B) 436
7 72 D) 65
waaraug @rHu CaAw smmdyen wIET e assmen 2 gulanser sobg Qsremiser?
(A) 607 (B) 436
© 72 (D) 65

67.  Which of the following person accompanied Gandhi to Champaran?

(A) Jawaharlal Nehru : (B) Vallabhai Patel
W JB. Kripalani (D) C.R.Dass
Epssngyd puisefie, smbuTen QusssSle srhHuyLen bgm e weud wmi?
(A) geuaniere Crm B) adaumi uGLeé
(C) J.B. dfluarei (D) C.R. smev
i 23 AJGS/18
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68.  Match List I with List I1 and select the correct answer by using the codes given below :
List [ List I1

Salient features Borrowed the constitution
of the constitution

(a) Rule of Law 1. Irish Republic

(b) Judicial Review 2.  Government of India Act 1935
(¢) Article 356 3. USA

(d) Directive principles of 4. UK

state policy

(a) (b) (c) (d)

A 1 2 3 4
o 4 3 2 1

© 3 1 4 2

D) 2 4 1 3

UL igwie) @enmie @reasren QunmsH sflwrer eflenL_eows Qsfley Qswis.
g uied I U iguwied IT
2rflweenwliber 2rFlweenoliy
ApLLibamiser Semummiiu L g

(@) &l gden o & . wiensg Gigwurs

(b) BHluyenrmiey 2. 1935-b gyawmenLw Qi ipamiis s b

() 356-aug el 3. oGwfssr

(d)  erflen auflsm Gio 4. @rflarps

QAmdlapenn

(a) (b) (c) (d)

A) 1 2 3 4
(B) 4 3 2 1
€ 3 1 4 2
(D) 2 4 1 3
AJGS/18 24




69.

70.

Match List I and List II using codes below :
List | List I1

(a) Railway Budget I 1950
(b) Comptroller and Auditor General . 1921
(¢c) Integrated Financial Advisor 3. 1921
(d) Public Accounts Committee 4. 1976
Codes :

(a) (b) (c) (d)
(A) 3 2 4 1
(B). 1 3 4 2
M 3 1 4 2
(D) 3 1 2 4

ul g uwied-T wpmb ul gue-IT sdwuepilameans Spssean GHluiBsmen LSS AuTHEge.

U guwie I ugwe IT

(a) muieGea L QgL L 1950
(b) s smEE LHNID sllsms Faerfl 2. 1921
() gaflaanps Bl HCorssi 3. 1921
(d) Qunzs senss G 4. 1976
@S Hser :

(a) (b) (©) (d)
(A) 3 2 4 1
B) 1 3 1 2
(C) 3 1 4 2
(D) 3 1 2 1

Who is the ex-officio chairman of the Rajya Sabha?
(A) . President
Vice Président
(C)  Prime Minister
(D) Home Minister
wrflosaremeanda wr uged aufissoweurns @LibEuhy 2 dremmi?
(A)  Bhwrss soaul
(B) Gyurs gearsgamaeu
(C) Qg

(D) o gD DinDEST
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Tl Match the following and choose the correct answer :

Constituency State

({a) Barmer 1. Gujarat

(b) Ladak 2.  Rajasthan

(¢)0 Kutch 3.  Delhi

(d) Chandm Chowk 4. Jammu & Kashmir
(a) (b) (c) (d)

\K 2 4 1 3

(B) 4 3 2 1

© 1 2 3 1

(D) 2 1 1 3

sflwrenens AurmsH ellenL arpsis :
ummesoann QETES wrHeb

() o GRS

(b) eLms @rraevgnen

(¢) && Haved)

@) smpHef sy gbap & sragSi
(a) (b) () (d)

A) 2 4 1 3

(B) 4 3 2 1

©) 1 2 3 4

D) 2 1 1 3
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74.

What is the study of soil called?

(A) Pomology (B) Phycology
M Pedology (D) Mycology

woeir LM LignSHE QUi eremen?

(A) Cumores) (B) eoussrag)

(C) diregd (D) ewssTag

1. Vector Control Research Centre — Pondicherry

2. Post Graduate Medical Institute — Chandigarh

3. National Institute of Communicable Diseases — Delhi

Check the statements True/False

(A) 1 and 2 are correct 1 and 3 are true
(C) 2 and 3 are true M 1, 2 and 3 are true
1. Qe sen_Crme rmisé eawowib — LgsGa

2. Gumevl SACGygCeau Qg Glemavigq Lyl — F60Tig ST

3. Cpegere @enaviglgul ot Agrpmib Cpmi — Gl

Gopsadlu spmaser &/ seum
(A) 1 wpmb 2 &l (B) 1wpmid 3 &l
(C) 2wpmb 3 e&f (D) 1,2wpmb 3 yfwee &l

Who proposed the name Candida?
Berkhout (B) Hurley
(C) Winner (D) Emmons

Caetmig LT GTETD QUITTSENSEIL CUENTIWIDISHSEUIT WITT? '
(A) Qurssiel (B) aniGeus

(C)  eflememi (D) enboerTen
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75.  The first synthetic polymer produced in-1909 is

(A) rayon (B) polystyrene
M bakelite (D) polyethylene

1909-a apselileh 2 reurdsiu L Qewpens LUy

(A) . Crwmen (B) unellevent_ffen

(C) CGusemerl (D) unellergHeSen

76. Phosgene is

(A) ccl, \a( cocl,

© C§, (D) NOCI
umevgilen eremLig

A) CCl, _ (B) COCl,
(C) CS, (D) NOCI

77.  The time duration of 1 hour 45 minutes is what percentage of a day?
(A)  7.218% B 7.291%

(C) 8.3% (D) 8.24%
1 wenfl 45 Hillib eremLig) e Breflen argsmen sgaign?

(A 7.218% (B) 7.291%
(©C) 83% (D) 8.24%

78.  Two Tailors X and Y are paid a total of Rs. 550 per week by their employer. If X is paid
120 percent of the sum paid to Y. Then how much is Y paid per week?

(A) Rs. 200 ' \M Rs. 250

(C) Rs. 300 (D) Rs. 350

X wpmid Y erenp @@ evgwdanyiser Ganpg, aumrsdled mumis. 550 sbuenors Qupdement. Y-er
siuergdlar 120% g X sibuemnons Qupiflpr erafley Y—eim g euny sbuLemd sTeueuetey?

(A) e 200 B) . 250

(C) e 300 (D) @ 350
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80.

A. B and C starts at the same time in the same direction to run around a circular stadium.
A completes a round in 252 seconds, B in 308 seconds and C in 198 seconds, all starting at
the same point. After what time will they meet again at the starting point

(A) 26 minutes 18 seconds (B) 45 minutes 0 seconds

(C) 42 minutes 36 seconds W 46 minutes 12 seconds

A, B, C giélw epeumd @G Crrgdler @Cr Hlamsulier g eulLiorear enngransmss snibl o O &emen.
A gyarauiir 252 eflemgsefiguns B 308 eflemgaseaflgud, C 198 eflemmgsefigis @m wuws shas
Wy LurTseT erafle jeuiaar apaumHd Feuss GL gl genmrs ey ereucuere) CHILD G0

(A) 26 Bifib 18 el (B) 45 MAL1b 0 eflemy

(C) 42 Al ib 36 eflenmig. (D) 46 Bflib 12 eflarmg.

Consider the statements :

1. Some caps are cups

2.  Some cups are boxes

3.  Some boxes are taps
Conclusions :

I Some cup are not caps
IT. No tap is cap .

II1. Some caps are not cups

IV.  Some boxes are not cups

(A) Only IV and III follows (B) Either I or III fo_llows

(C) Both I and III follows \y None of these

1. fe Qsrilsdr Sewramhser

2. A Heramiiser QUL igseT

3. fe Quigser GYmuser

TN CLPEITMI SnDDISET S(HLD (LPlg-Y&er

13 o Hamemmiser Agridser e

IL. ahs G Qsmid @daame

III. e Qgmitser Hawenmiser @aeme

IV.  fleo Quigsdr Slanahser Gdame

(A) IV I wyb Agriser (B) I soeg I b Agm_isdr
(C) I, III b @gmiser (D) ggbome
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81.

82.

83.

The Boolean function A + BC is the reduced form of

(A) AB+BC \{(A+B)(A+C)

(C) AB+ABC D) (A+C)B

A + BC én yeSlwen aniuimeng) & (@ bCLimg) 19émeu hLieueneuhmier erg?
(A) AB+BC B) (A+B)(A+0O)

(C) AB+ABC (D) (A+C)B

A and B can together finish a work in 30 days. They worked for it for 20 days and then B left. If
the remaining work was done by A alone in 20 more days, A alone can finish the total work in

(A) 48 days (B) 50 days

(C) 54 days G’ 60 days

A wpmid B @eanig @f Gaumaeaw 30 prisefld Ganait. 20 pm’ s @meumd Qeenss Gouame
Gz Gery B Caumauldimbe slad eflin. Bguparar Caumaenws A ol @ib 20 pm_sear Qedigmt
eraile ap( Cauemaanis A o {Hib Asilig 1Pigés aTBHGEE Carer@nd Hrser

(A) 48 priser (B) 50 pm_sar

(C) 54 prisar (D) 60 pm_ser

A can do a certain job in 12 days B is 60% more efficient than A. How many days B alone
take to do the same job?

(A) 7days (B) 8days

‘/ 7% days . (D) 6days

12 priseafle> A aremuaut @@ Caumamw wysdprt. B aemar Aew oL 60% SHpeivwrearai.
araflé B saflwns 2Gs Caimaenw srigmen pm _sefléd apigliumi?

(A) 7 priser (B) 8 pmrisar

(C) 7% prisar (D) 6 pmisar
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84.

85.

86.

817.

Simplify : 12° +13* — 25°
11700 (B) 11700
(C) 1170 . D) =1170

smeEs : 12° +13° - 25°
(A) -11700 . (B) 11700
(C) 1170 (D) -1170

252 can be expressed as a product of primes as

M2x2x3x3xl B) 2x2x2x3x7
3x3x3x3xT7 (D) 2x3x3x3x7

252 g ereueuny ST eTaRTEaT e QLHESWTS eT(LPSHETLD
(A) 2x2x3x3xT7 B) 2x2x2x3x7
(C) 3x3x3x3xT7 - (D) 2x3x3x3x7

If 10% of x is equal to 20% of y then find x: ¥y

3:2 B) 1:2

\gle D) 3:1

x —an Lisg) ssaigloneng) ¥ —en 20%é@ swid erafled x 1 y 6 e serBiblig.
A 3:2 - B) 1:2
© 2:1 D) 3:1

72% of 25 students are good in Mathematics. How gnany are not good in Mathematics?

(A 18 7

© 16 D) 12

25 wrewaisafles 72% Cuir sefsLur_sdle SHpeawvwraaunsear erafld seflsl um o
Soewwppeurser assemen Guir?

A) 18 ® 7

(C) - 16 (D) 12
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88. Who was the author of Brihatsamhita?
(A) Sudraka

M Varahamihira

(C) Vishnusharma
(D) Dandin

Gmas sbahengullen o Aflwir wim?
(A) @méﬁ <

(B)  augmamBl&yr

(C)  eflaggmsion

D)  sewmgen

89.  Which of the following is not one of the earliest Tamil grammer works?

(A) Agattiyam

M Kuruntogai

(C) Pannirupadalam

(D)  Kakkai padiniyam

WeneuLieneuseile) erg Lienpewwirer sl Gaésamrid Bdma?
(A)  ssdub

(B) @nilsres

(C) uverefimuLeb

D) sréms umgeflwib

90.  Who is the author of ‘Fo-Kero-Ki'?
M Fa-hien (B) Hieun Tsang
(C) Itsing (D) Marco Polo
‘Gur-QsCym-4' eremm Hredlesm MM wiri?
(A)  urdlwmren (B) aflwmren seum
C) @Lém (D) wrGar CurGar
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91.  Arrange the events in chronological order.
1 Battle of Adyar
2 Battle of Plassey
3. Battle of Buxar
4 Battle of Wandiwash

A 1 4 3 2 \}(12

4 3
© 4 1 2 3 @ 1 4 2 3

Yemeumid Hlapaflsener sra auflensliBsg).

1. o wirm Gum
2. Gerradis Guim
3. uagenmr Guimm

4. aubgeurAGuimm

A 1 4 3 2 ) 1 2 4 3
@ 4 1 2 3 D 1 4

92. Who was the author of ‘Tarikh i Sher Shahi'?
(A) Khwaja Khizr Khan (B) Al beruni
(C) Khwaja Niamatullah Harawi M Abbas Khan Sarwani

‘srflsd) Clenr agrdl’ eremp Hrene erpHiu MW wim?
(A)  seurgr A& sren (B) =e@G@umef
(C)  seumgr Hluwdgdear anyred (D) @iuren srer &ieumef

93.  The Asiatic Society was founded by Wiiliam Jones on
AT January 15, 1784 (B) March 7, 1785
(C) dJanuary 15, 1785 (D) March 15, 1789
2w srussmg efleallub Cgrenay Hmeflws prer
(A) mereufi 15, 1784 (B) 1oni&7, 1785
(C) gemeufl 15, 1785 (D) onmi& 15, 1789
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94.  Which is called “Sorrow of Bihar"?
(A) The Mahanadi (B) The Damodar
(C) The Chambal W The Kosi
darflen guwyb srenpenpssiiLBeus)
(A)  warpd (B) snCGuonsi
©) sbue . (D) Canél

95.  Match the following :

(a) Indus 1. Manjira
(b) Ganga 2. Rawvi
(¢) Godavari 3. Hugli
(d) Kaveri 4, Bavani
(a) (b) (c) (d)

A 1 3 2 4

w 2 3 1 4
© 3 4 1 2
(D) 2 1 3 4
&pasam_supenn QUITHSEs :
(a) Hig 1.  weEpflgr
(b) shos 2. qgmef
() Cargmeuf 3. apvaefl
(d) &rCeufl 4. uveurafl

(a) (b) (c) (d)

A) 1 3 2 4
B) 2 3 1 !
© 3 1 1 2
(D) 2 1 3 4
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96.

Match the following types of cancer based on the tissue :

(a)
(b)
(c)
(d)

(A)
(B)
(©)

Carcinoma | & Cancer of the Lymphatic System

Sarcoma 2. Cancer of the white blood cells or bone marrow
Lymphoma 3. Cancer of the bone and soft tissues

Leukemia 4. Cancer of the epithelial cells

(a) (b) (c) (d)

2 - 3 1 4
3 4 1 2
4 2 k 3

M4 3 1 2

&CGp Qar@éssiu_@erar ypmCrmiear aumssmer < sramuudL Hessdr  (Zasser)

Sy Liuenuller Qummss)s -

(a) asmflGermom 1.  ofibumgs Aev yHmCHmL

(b) smiGamon 2. QeucTenar SigmIsEsET SN eTEIDL|RME LHDICHTL
(c) &SlbGumor 3.  erg@ubyy wpmib Qweaellw Hassear ypmCrm

(d) guaGsflwun 4. 95w Gedsaficr YHmCHTL

(A)
(B)
(©)
(D)

(a) (b) (c) (d)

2 3 1 4
3 4 1 2
4 2 1 3
4 3 1 2
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97.  Match the following :
(a) dJanakiraman Committee
(b) Sarkaria Commission
(¢) Mandal Commission

(d) Balwantrai Mehta Committee

(a) (b) () (d)

(A) 2 3 4 1
\M 2 4 1 3
<€ 3 2 1 4
(D) 4 1 2 3
enmeueuaneupenpls QU HSEs :

(a) grendl @umoen @
(b) srEssTfur G
() wam_e G

(d) uveeuns ymi Cossm @

(a) (b) (c) (d)

A 2 .3 4 1

B) 2 1 1 3

C) 3 2 1 4

D) 4 1 2 3
AJGS/18
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98.  The policy of the government with regard to its reyenue and expenditure is called

(A)  Economic Policy Fiscal Policy

(C) Monetary Policy (D) Revenue-Expenditure Policy
S{7élem eugmeumis wpmib Qewey Qsr iy w Qardrams Bevauny sepssiiuREps.

(A) Qumrmernsmys Qanarens (B) HAs Qsnarens

(C) vews Qasnerens D)  eumeumis pmib Qeeeays Qarerans

99.  Per capita.income indicates
(A)  The wealth of the people
(B)  The poverty of the people
(C) _ The educational level of the people -
The standard of living of the people

ST QU(BLOTENLD &L 1g. 55T (Heug)
(Ay wéseflen Qedray Hleneenw
(B)  wasaflen augenn Fleneeni
©)  wvasefen swell Hevaenws

D)  wssafien umpsass srsms

100.  Monetary Policy is implemented by

(A) State Bank

\M Reserve Bank of India
(C) Central Government
(D) State Government
Spssam_supmier Lewrs QaTatenaeani BLpernUILBESID eurhid) e1g)?
Q)  HCLL amd :

- (B) @sdw Meiey curisd
©€) wsu s
D) orfle s

I 37 : ‘ AJGS/18

[Turn over




SPACE FOR ROUGH WORK

AJGS/18 38







AJGS/18

Register
Number

2018
GENERAL STUDIES

Time Allowed : 2 Hours] [Maximum Marks : 200

Read the following instructions carefully before you begin to answer the questions.

&

o

10.

11.
12.

13.

_this Question Booklet and

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 100 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles (3) ,®, © and () against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, @ is the correct answer, you have to mark as follows :

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
the er Sheet out of the Examination Hall during the time of
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Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




